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(00 1] 0001000000 0o

Hello World !!

gob 1:1000

#include <stdio.h>
int main(){
printf(” Hello World !!\n”);

return 0;

}

0O Utk WK

(00 2] 000200000000

Hello World !!
from Akita National College of Technology.
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ooo 2:2000

#include <stdio.h>
int main(){

printf(”Hello World !!\n”);
printf(”from Akita National College of Technology.\n”);

return 0;

}

20000000000000O0000000O0O0O0O0O0O0O0O0O0

obd 3: 00000004

#include <stdio.h>
int main(){
int i,j;

/+ — 00000000000 D00—— Ox/
printf (?000007\t”);

scanf ("%d” &1 );

printf (?00007?\t”);

scanf ("%d” ,&j ) ;

Jr — 00000 —x/

printf ("%dH%d=%d\n" ,i,j,i+j);
printf ("%d-%d=%d\n” ,i,j,i—j);
printf ("?%d*%d=%d\n” ,i,j,i%j);

return 0;

2000000000000 DOOODOObOODODODObOObOD

obd 40000000

#include <stdio.h>
int main(){
int i,j;

/+ — 00000000000 D00——— Ox/
printf (?000007\t”);

scanf ("%d” ,&1);

printf (?00007?\t”);

scanf ("%d” ,&j ) ;

/+ — 00000 —x/
printf (7%d/%d=\n" ,i,j);
printf(”\t0 \t%d\n” ,i/j);
printf(”\t0 O \t%d\n” ,i%j );

return 0;
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200000000000000000000C0O0O0O0O0O0O000DOO0

gob s 0o0oggoog

#include <stdio.h>
int main(){
double x, y;

/+ — 00000000000 00——— Ox/
printf (?000007\t”);

scanf ("%l ,&x);

printf (?00007?\t”);

scanf ("%1f” &y );

/+ — 00000 —=x/

printf ("%4+%I=%f\n" ,x,y,x+ty
printf (?%f—%{=%f\n” ,x,y,x—y
printf ("%f*x%=%f\n” ,x,y,x*y
printf (?%f/%f=%f\n" ,x,y,x/y

e~ —~

)
)
)
)

return 0;

00 [deg 000000000 ODO0OOODOOOOOOOODOO

ubd 6. 0oboooooooo

#include <stdio.h>
int main(){
double rad, deg;
/+ — 00000000000 D00——— Ox/
printf (?00 [deg]?\t”);
scanf ("%l{” ,&deg);
/+ — 00000 —x/
rad=deg /180.0%3.14159265;
printf ("%f [rad]\n” ,rad);

return O0;

00 [deg]COO0OODOOOODOOOOOOOOOOODOO

oog 7oboobogoogo

#include <stdio.h>
#include <math.h>

int main(){
double rad, deg;

/+ — 00000000000 D00——— Ox/
printf (?00 [deg]?\t”);




2.2

(oo

(oo

10 scanf ("%lf” ,&deg);
11
12| S+ — 00000 —x/

13 rad=deg /180.0%3.14159265;

14 printf(”sin = %f\n” ,sin (rad)

)
15 printf(”cos = %f\n” ,cos(rad));
16 printf(”tan = %f\n” ,tan(rad));
17
18 return 0;
19 | }
goo

1] if0 gotoOOOOOO1O01000000000D0OOOODOO

000 8 twifd gotoO OO OO0OO

1 | #/include <stdio.h>

2

3 | int main(){

4

5 int i, sum;

6

7 J+—— 000 —=x/

8 sum=0;

9 i=1;

10

11 loop: /+ 000 =/

12 sum+=i ; /% sum=sum+i x/
13 T S+ 00000000 =/
14 if (i <=1000)goto loop;

15

16 printf(”sum = %d\n” ,sum);

17

18 return 0;

19 | }

2] for0000O0O01D010000DO00000000O0ODOO

o000 9 fordgonoonOQg

1 | #include <stdio.h>

2

3 | int main(){

4

5 int i, sum;

6

7 J+—— 000 —=x/

8 sum=0;

9

10 for (i=1; i<=1000; i++){
11 sum+=i ; /* sum=sum+1i x/
12 )

13

14 printf(”sum = %d\n” ,sum);
15

16 return O0;




17 | }

[00 3] whileOOOOOO1OD1000000000000000O

gob 10: whileOOOOODOO

1 | ##include <stdio.h>

2

3| int main(){

4

5 int i, sum;

6

7 J+—— 000 —=x/

8 sum=0;

9 i=1;

10

11 while (i <=1000){

12 sum+=i ; /* sum=sum+1i */
13 i4+;

14 }

15

16 printf(”sum = %d\n” ,sum);
17

18 return 0;

19}

[00 4] doOwhileODOOODO101000000000000000O

000 11: doOwhileODOOODO OO

1 | #include <stdio.h>

2

3| int main(){

4

5 int i, sum;

6

7 /+—— 000 —=x/

8 sum=0;

9 i=1;

10

11 do{

12 sum+t=i ; /% sum=sum+1i */
13 i4++;

14 }while (i <=1000);

15

16 printf(”sum = %d\n” ,sum);
17

18 return O0;

19 | }

[O00 5] 1010000000000000C0O0O0OO

00O 12 00000000000000

1 | #include <stdio.h>
2 | #include <math.h>
3 | #define TEST 100000



2.3

(oo

4

5| int main(void){

6 int number [TEST+1];

7 int i,j,test_max;

8

9 J*— ooo — */

10 for (i=1;i<=TEST; i++){ /* number[i]=0 000 %=/
11 number [ 1]=0; /* number[i]=1 (000000 %/
12

13

4| Sf+—— 00D0D(DO0DDO0D0O0DO00) —sx/
15 test_-max=(int)sqrt (TEST);

16 for (i=2;i<=test_max;i++){

17 if (number[i]==0){

18 for (j=2+i; j<=TEST; j+=i){
19 number [ j|=1;

20

21 }

22 }

23

24| Jx 0000 —x/

25 i=0;

26 printf (”No\tPrime Number\n”);
27

28 | for (i=2;i<=TEST;i++){

29 if (number[i]==0){

30 j++s

31 printf ("%d\t%d\n” ,j, i);
32 }

33| )

34

35

36 return O0;

37|}

g
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000 13: 00000

#include <stdio.h>
#define N 10

int main(){
char temp;
int i, input-num[N];
int sum_gusu, sum_kisu;

/+ — 0000000000000 O0DO0ODO0O0ODDDOO
for (i=0; i<N; i++){

printf ("%d0 00 00 ?2\t”,i+1);

scanf ("%d%c” , &input-num [i],&temp);

}

/+ — 00000000 O000DO0O00 — %/
sum_gusu = 0;

.
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© 00 O U W~

sum_kisu = 0;

/+ — 00000000000 — */
for (i=0; i<N; i++){
if (input_num [1]%2 = 0){ /+ 0DO0O0o0oo0 =/
sum_gusu += input_num[1i];
telse{ /+ 000000 =/

sum_kisu += input_num/|[i];
}
}

printf (?’0000\t%d\n” ,sum_gusu );
printf (?0000\t%d\n” ,sum_kisu );

return O0;

gboooooooobooooobooobobobooobobobooboobboooobooobooboboon
oooooOooooboood

OO0 14: 00000

#include <stdio.h>

#include <stdlib.h> /+ 0000000 */
#include <time.h> /+ 0000000000 =/
int main(void){
int a[1024], i, j, ndata, test;
ndata=1024;
srand ((unsigned int)time (NULL)); /+ 00000000 D0DO0DO0ODO0DO0ODOOO =/
for (i=0; i<ndata; i++){
ali]=rand (); /+ 00afij00D00D00000 */
=L
/+ — 00O0o0Qg — %/
while (j<ndata){
test = alj];
i=j —1;
while(0<=1i && test<a[i]){ /+ 00000000 */
alit1] = alil;
I——;
}
ali+1] = test;
jt+t
}
/+ — 00000000000 — */

for (i=0; i<ndata; i++){
printf (”?%d\n”, al[i]);




38 return O;
39 | }

24 0O0O0O0OOOO

(00 1] ODoOOoOooooos3so0d0oOoOoDOOoDOOODOOO00O00O0OOoOoOoooooOOoDoboOogooo
00 fldeg) O sinf0cosh, tanf OO0 OO0 D 0OD0OO0DOOOOOODO

oboO 15: 00000000

1 | #include <stdio.h>

2 | #include <math.h>

3

4| int main(){

5

6 int theta;

7 double rad, s, c, t;

8 FILE xfp;

9

10 fp=fopen (” triangle_table.txt”,”w”); /+« 000000000 =/
11

12 for (theta=0; theta<=360; theta++){

13 rad=theta /180.0%3.1415926; /J«+ 00 O0O0DO0O0o00 =/
14

15 s=sin(rad); /« 0000000 =/
16 c=cos (rad);

17 t=tan(rad);

18

19 fprintf (fp ,”%d\ t%f\t%f\t%f\n” , theta, s, c, t); /+ 0000 %/
20 }

21

22 fclose (fp); /# 000000000 %/
23

24 return 0;

25 | }

(00 2] DO0O00OO0O0oO0oO0oOoOooOOoOooOooOobO0Oo0ooooboboooobooooboooOoOooo

obd 16: 000oo0Oooooogooao

1 | #4include <stdio.h>

2

3 | int main(){

4

5 int theta;

6 double s, c, t;

7 FILE xfp;

8

9| s+ —— 000000000 (0DDOO0O0O00)— =/

10 fp=fopen (” triangle_table.txt” ,”r”);

11

12 /+ — 000000000000 — %/

13 while (fscanf (fp, "%d%1{%1{%1f” , &theta, &s, &c, &t) != EOF){
14 printf (?%d\t%f\ t%f\t%f\n” , theta, s, c, t); /+* 00 %/
15

16
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(oo

17 fclose (fp); /# 000000000 %/
18

19 return 0;

20 | }

oo

1] 0000000 200000000DOOOCOOOO0OO0DOOODODOOOOOODODOOO

1 | #include <stdio.h>

2 | ##include <string.h>

3

4| int main(){

5

6 char moji[32];

7 int i, n;

8

9 printf(”320 0 0 0 0000000000000 O0OO0O0O\Nn”);

10 fgets (moji, 32, stdin); S+ 00000100000 */

11 n=strlen (moji); /+ 000000000000 =/

12

13

14 /+ — 00000000000 D0DDOO0OD0DODO0 — %/

15 for (i=n—2; i>=0; i——){

16 printf ("%c”, moji[i]);

17| 3

18

19 printf(”\n”);

20

21 return 0;

22|}

RN

1] 00OOoog (a,b,C)DDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
0dd 18 oo oooooooa

1 | #include <stdio.h>

2 | ##include <math.h>

3

4 | double heron(double x, double y, double z);

51 /x */

6| /* main O O */

T/ */

8 | int main(){

9

10 double a, b, c, s;

11 char temp;

12

13 printf (000030 00000000 000O0\n”);

gooooooooboobooobn

ooo 17 0000b0o0o0ocoobooon




14 scanf ("%1{%1f%1{%c” , &a, &b, &c, &temp);
15
16 s=heron(a, b, c¢);
17
18 if (s<—900){
19 printf (00003000 000000000\n);
20 }else{
21 printf (?0000%f0 OO0 \n”,s);
22
23
24 return 0;
25 | }
26
27
28 | /* x/
29 | /« opopooDooooooooooooboooao */
30 | /x x/
31 | double heron(double x, double y, double z){
32 double s, menseki;
33
3| if(Geb)<a 1] (vhm)<x || (z0<y)q
35 return —999;
36| )
37
38 s=(x+y+z)/2.0;
39
40 menseki=sqrt (s*(s—x)*(s—y)*(s—z));
41
42 return menseki;
43 |}
2.7 0OoOoO

(00 1] OO0oOoooso00D00000000000000000O0DO0O0O0OOOODOODOOOn
ggbobobooboobboooooboooobooboobooboooaoboboodobaa
goboboobobooooboobobobboboooooooboboobooboobooboo
gboooooood

ooo 190000000

1 | #4include <stdio.h>

2 | ##define NINZU 45

3

4 | struct kanri{

5 char myoji[32];

6 char namae[32];

7 int jyuni;

8 double heikin;

9 int english;

10 int math;

11 int info;

12}

13

14 | int read(struct kanri g[]);
15 | int sekiji_keisan (struct kanri g[]);
16 | int hyoji(struct kanri g[]);
17

10




Ve matn O 0O

int main(){
struct kanri gakusei [NINZU];

read (gakusei);
sekiji_keisan (gakusei);

hyoji(gakusei);

return 0;

/*

/* ooo0ooDoooooao

/*

int read(struct kanri g[]){
FILE xdata;
int i;

data=fopen (” seiseki.txt” ,”r”);

for (1=0;i<NINZU; i ++){
fscanf (data ,”%s%s%d%d%d” , g[i].myoji, g[i].namae,

*/
*/

&g[i].english, &g[i].math, &g[i].info);

}

fclose (data);

return 0;

/*
Ve OooDoooDooDoDooooDoooao

/*

int sekiji_keisan (struct kanri g[]){
int i, j;
struct kanri test;

for (i=0;1<NINZU; i++){
gli].heikin=(g[i]. english4+g[i].math+g[i].info)/3.0;

/+ —— 00000(00) — =/
=L
while (j <NINZU) {

test = g[j];

i=j —1;

while(0<=i && test.heikin>g[i]. heikin){
gli+l] = g[i];
i——;
}
gli+1] = test;
j++;
}

return O;

}

11




80

81

82 | /x x/
83 | /x oooooooooao */
84| /x %/
85 | int hyoji(struct kanri g[]){

86 int i;

87

88 |  for (i=0;i<NINZU;i++){

89 printf (7%d\t%1f\t%s\ t%s\ t%d\ t%d\ t%d\n” ,

90 i+1,

91 g[i]. heikin ,

92 g[i].myoji,

93 g[i].namae,

94 gl[i].english,

95 g[i].math,

96 gli].info

97 )

98 | 1}

99

100 return 0;

101 | }

2.8 OOOOO

(00 1] O0000000a, b, cO0OD0OOO0D0ODODOa—bO0b—clc—ad000000O0O0OO0OO
gooo

obd 20 000o0O0cO00ooooobobooood

1 | #/include <stdio.h>

2

3| int rot(int *x, int xy, int *z);

4| /« x/
5| /* main 0O O */
6| /x x/
7 | int main(){

8

9 int a, b, c;

10

11 a=1;

12 b=2;

13 c=3;

14

15 printf (7 a=%d\tb=%d\ tc=%d\n” , a, b, c);

16

17 rot(&a, &b, &c); S+ 0000000 */

18

19 printf (7 a=%d\tb=%d\ tc=%d\n”, a, b, c);

20

21

22 return 0;

23 | }

24

25

26 | /* */
27 | /x ooooooooboooboaDn */
28 | /* x/

12




29 | int rot(int *x, int xy, int *z){
30 int temp;
31

32 temp=xz;
33

34 *7Z = *Yy;
35 Xy = *X;
36 *X = temp;
37

38 return O0;
39 | }

(00 2] 0000 100x1000 200000 alil [j1=i*i+j00000000000 Dalil [310 alj] [4]
00000000000000000

ooo 21: 0000

1 | #include <stdio.h>

2 | ##define N 100

3

4| int tranpose(int matrix [][N]);

5| /* */
6| /x matn O 0O */
T /x */
8 | int main(){

9

10 int i, j, matrix [N][N];

11

12 for (i=0; i<N; i++){

13 for (j=0; J<N; j++){

14 matrix [1][j] = ixi+j;

15

16 }

17

18 tranpose (matrix );

19

20 return O0;

21 | }

22

23

21 | /s %/
25 | /x gpopooooooooooonD */
26 | /* */
27 | int tranpose(int a[][N]){

28 int i, j, temp;

29

30 for (i=0; i<N; i++){

31 for (j=i+1; j<N; j++){

52 temp=a[1][j];

33 ali][j]=alj]li];

34 alj][i]=temp;

35

36| 1}

37

38 return 0;

39 |}

13



